PLANT ENTERPRISES PRODUCTION

OUACHITA FARISH		FLANIEN	<u>TERPRISES PRODU</u>	CHON		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		8,540.0	920.00	7,856,800	lbs.	\$3,535,560
Lint - Non-irrigated (Total)		6,852.0	750.00	5,139,000	lbs.	\$2,312,550
Cotton (Total)	16	15,392.0				\$5,848,110
FORESTRY						
Pulpwood						
Pine				62,157	cords	
Hardwood				23,506	cords	
Pulpwood (Total)				85,663		
Chip & Saw (Total)				22,184	cords	
Saw Timber						
Pine				14,285,617	board feet	
Hardwood				2,424,499	board feet	
Saw Timber (Total)				16,710,116		
Total Pulpwood, Chip & Saw,						\$17,006,897
Saw Timber FOB Mill						
Total Forestry Stumpage						\$9,336,729
(Total)						
Forestry (Total)						\$17,006,897
FRUITS						
Blackberries (Total)	*	2.0	1,000.00	2,000	pints	\$3,500
Blueberries (Total)	*	3.0	500.00	1,500	lbs.	\$2,400
Figs (Total)	*	4.0	200.00	800	lbs.	\$1,400
Mayhaws						
Native	8	10.0	70.00	700	lbs.	\$770
Orchard	*	8.0	400.00	3,200	lbs.	\$4,160
Mayhaws (Total)		18.0				\$4,930
Muscadines						
Fresh	*	5.0	250.00	1,250	gals	\$10,000
Commercial	*	2.0	3.00	6	tons	\$1,920
Muscadines (Total)		7.0				\$11,920

FRUITS						
Peaches (Total)	*	30.0	300.00	9,000	bu.	\$360,000
Pears (Total)	*	3.0	8.00	24	bu.	\$288
Strawberries (Total)	*	17.0	1,800.00	30,600	flats	\$306,000
Fruits (Total)		84.0				\$690,438
FEED GRAINS						
Corn (Total)	11	2,532.0	135.00	341,820	bu.	\$748,586
Grain Sorghum (Total)	*	137.0	63.00	8,631	cwt.	\$30,899
Feed Grains (Total)		2,669.0				\$779,485
Home Gardens (Total)	8,700					\$2,262,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$50,000
Plants (Total)						
Woody Ornamentals (Total)	10				acre	\$50,000
Nursery Crops (Total)						\$100,000
PECANS						
Improved (Total)	10	380.0	380.00	144,400	lbs.	\$187,720
Native (Total)	240	180.0	190.00	34,200	lbs.	\$30,780
Pecans (Total)		560.0				\$218,500
Rice (Total)	8	9,303.0	67.00	623,301	cwt.	\$4,394,272
Sod Production (Total)	*	40.0			acre	\$240,000
Soybeans (Total)	34	12,410.0	35.00	434,350	bu.	\$2,567,009
VEGETABLES						
Cantaloupe (Total)	*	2.0	850.00	1,700	cartons (40	\$30,600
					lbs.)	
Collards						
Fresh	*	1.0	100.00	100	doz. bunches	\$700
Collards (Total)		1.0				\$700
Irish Potatoes						
Fresh	*	2.0	65.00	130	cwt.	\$4,550
Irish Potatoes (Total)		2.0				\$4,550
Lima Beans						
Fresh	*	2.0	30.00	60	bu. (32 lbs.)	\$2,100
Lima Beans (Total)		2.0				\$2,100
Mustard (Fresh) (Total)	*	2.0	400.00		doz. bunches	\$5,600
Okra (Fresh) (Total)	*	2.0	300.00	600	bu.	\$18,000

OUACHITA	PAI	RISH
----------	-----	------

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Snap Beans (Fresh) (Total)	*	5.0	50.00	250	bu. (30 lbs.)	\$7,500
Southern Peas (Fresh) (Total)	*	35.0	75.00	2,625	bu. (24 lbs.)	\$65,625
Squash (Fresh)						
Yellow Squash	*	2.0	200.00	400	bu. (45 lbs.)	\$8,000
Squash (Fresh) (Total)		2.0				\$8,000
Sweet Corn (Fresh) (Total)	*	10.0	800.00	8,000	doz. ears	\$28,000
Tomatoes (Field) (Total)	8	5.0	400.00	2,000	lugs (20 lbs.)	\$40,000
Turnips (Fresh) (Total)	*	5.0	400.00	2,000	doz. bunches	\$14,000
Watermelon (Total)	*	10.0	150.00	1,500	cwt.	\$12,000
Vegetables (Total)		83.0				\$236,675
Wheat (Total)	*	1,874.0	40.00	74,960	bu.	\$245,869
TOTAL ALL PLANT ENTERPRISI	ES					\$34,589,254

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION Number of Units of Total Units of Gross Farm Fisheries Producers Production Production Measure Value AQUACULTURE Alligators (Farm) (Total) 30,907 ft. \$772,688 Aquaculture (Total) \$772,688 \$165 Fur Animals (Total) 17 pelts Alligators (Wild) (Total) \$9,225 307 ft. **HUNTING LEASES** Waterfowl (Total) 32 15,900 No. Acres \$795,000 acre Leased All Other Game (Total) 25 10,600 No. Acres \$74,200 acre Leased Hunting Leases (Total) \$869,200 TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES \$1,651,277 ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			130	head	\$69,301
400-500 lbs.			385	head	\$232,969
500-600 lbs.			239	head	\$157,043
600-700 lbs.			180	head	\$132,631
Steer Calves (Total)					\$591,945
Heifer Calves					
300-400 lbs.			177	head	\$82,796
400-500 lbs.			425	head	\$232,503
500-600 lbs.			98	head	\$60,724
600-700 lbs.			115	head	\$80,237
Heifer Calves (Total)					\$456,259
Yearling Cattle					
600-700 lbs.			520	head	\$3,211
700-800 lbs.			365	head	\$2,436
Yearling Cattle (Total)					\$5,647
Cow-Calf Pairs (Total)			775	pair	\$758,826
Cull Cows (Total)			220	head	\$87,198
Cull Bulls (Total)			71	head	\$65,892
Cattle & Calves (Total)	57	3,800 No. Cows			\$1,965,767
DAIRY					
Dairy Cows					
Milk	*	85 No. Adult Cows	1,128,021	pounds	\$181,386
Bred Heifers			1	head	\$1,800
Cull Cows			23	head	\$13,800
Bull Calves			39	head	\$1,950
Breeding Age Bulls			1	head	\$1,200
Dairy Cows (Total)					\$200,136
Dairy Goats (Total)	*	15 Total Adult		Pounds	, in the second second
•		Does			
Dairy (Total)					\$200,136
HORSES					,

ANIMAL ENTERPRISES PRODUCTION

OUACHITA FARISH	ANIIV	IAL ENTERPRISES	RODUCTION			
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
	1 Toducets	1 TOQUETION		1 Toduction	1v1CasuiC	v aruc
HORSES						
Brood Mares Race Horses		27	N. D. AM.	25	1 1	6200 000
	6		No. Brood Mares		head	\$200,000
Show Horses	75		No. Brood Mares		head	\$352,000
Recreation Horses	400	630	No. Brood Mares	144	head	\$216,000
Brood Mares (Total)						\$768,000
Stud Fees		27	N. C. 11.	90	1 . 1	\$200,000
Race Horses			No. Stallions		mares bred	\$200,000
Show Horses			No. Stallions		mares bred	\$300,000
Recreation Horses		150	No. Stallions	244	mares bred	\$122,000
Stud Fees (Total)	*			0.2		\$622,000
Race Horses (Total)					head	\$1,104,000
Show Horses (Total)	250				head	\$2,250,000
Recreation Horses (Total)	920			1,800	head	\$2,700,000
Horses (Total)						\$7,444,000
POULTRY						***
Broilers (Total)	9			23,939,000		\$16,996,690
Edible Eggs (Total)	8	300	No. Hens		doz. eggs sold	\$325
Cull Hens (Total)				385,000		\$57,750
Breeder Flocks (Total)	*	55,000	No. Birds	687,500	doz. hatching	\$261,250
					eggs sold	
Poultry (Total)						\$17,316,015
RABBITS						
Fryers (Total)	6	*	No. Animals	3,400		\$2,720
Does (Total)	10	620	No. Animals	2,550	lbs.	\$383
Rabbits (Total)						\$3,103
SHEEP						
Wool (Total)		10	No. Sheared		cwt.	\$15
Slaughter Lambs (Total)				10	head	\$1,589
Stocker Sheep (Total)				3	head	\$225
Cull Sheep (Total)				6	head	\$330

Sheep (Total)	*	10 No.Breeding		\$2,159
		Ewes		
GOATS				
Show Goats (Total)		10	head	\$2,250
Slaughter Goats (Total)		250	head	\$27,125
Stocker Goats (Total)		330	head	\$28,545
Cull Goats (Total)		73	head	\$4,380
Goats (Total)	45	475 No. Does		\$62,300
SWINE				
Feeder Pigs (Total)		35	head	\$1,092
Slaughter Hogs (Total)		10	head	\$1,307
Culls (Total)		4	head	\$672
Swine (Total)	*	7 No. Sows		\$3,071
TOTAL ALL ANIMAL ENTERPRISES				\$26,996,550

OUACHITA PARISH \$63,237,081 195